
Matricola Es. 1.1 Es. 1.2 Es. 1.3 Es. 2.1 Es. 2.2 Es. 2.3 Es. 2.4 Es. 2.5 Es. 3.1 Es. 3.2 Es. 4.1 Es. 4.2 Totale Esito Note

982665 1.5 3 3 0.5 0.5 1 1 1 1 0 1.5 1 15 15

986344 3 3 4 1 1.5 1.5 2 2.5 2 3 3 2 28.5 28

938156 1 0 0 1 0.5 0.5 2 1 2 1.5 0 0 9.5 9 Insufficiente in C

986340 2.5 2 3 0.5 1 0 0 2 0 1 1.5 1 14.5 14

984325 2.5 1 2 0.5 0.5 1 1 1 0 0 1 0 10.5 10

891040 1.5 3 2.5 0.5 0 0.5 2 1.5 2 0 1.5 0 15 15

985506 3 3 3.5 1 1 2 2 1.5 1.5 3 1.5 1 24 24

984375 3 3 3.5 1 2 2 1.5 1.5 2 1.5 1.5 3 25.5 25

987330 1.5 2 0 0.5 0.5 0 0 1.5 1 0 0 1 8 8 Insufficiente in Matlab

911315 1 3 3 0.5 0.5 1 2 2 2 1.5 2 1.5 20 20

909242 2 3 0 1 0 0.5 0 0 1 3 1 3 14.5 14 Insufficiente in Matlab

987200 1.5 2 3.5 0.5 1 2 2 0 2 3 1.5 1.5 20.5 20

984398 3 3 3.5 0.5 1.5 2 2 2 2 3 1.5 3 27 27

981293 2 2.5 2 1 0 1 0 1.5 1 1.5 1.5 1 15 15

983021 2 2.5 3.5 0.5 0.5 0.5 0 2 1.5 3 1.5 3 20.5 20

982652 2 3 3.5 0 1 2 0.5 1.5 2 2 1.5 1.5 20.5 20

984865 2.5 3 3.5 0.5 1 0 2 1.5 1 0 3 0 18 18

985786 1.5 1.5 3 0.5 1 1 2 0 2.5 0 1.5 1 15.5 15

981287 3.5 3 4 0.5 0 0 1 1 0 0 1.5 0 14.5 14


